Please explain each answer for problem #1 whether it is correct or not.

Do #2 with simple step by step explaination and answer.

Do number 3, explain each picture and what is going on.  What is going on with the velocity’s and accelerations too.  Need details please.
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1. The figure shows the position of the object at 0, 2 [ =

1, 2, 3, 4 and 5 sec. Which MUST be true?
: Os Is  2s 3s 4s 5s
:)& constant non-zero net force acts on the
‘ bo

dy: & & € € & 3
( 5).‘\ single force acts on the body in the direc-
"~ tion of motion

e A single constant force acts on the body op-

posite the direction of motion. L
e No forces act on the body. [/_Q

O No net force act®on the body.

2. A 80-kg man on ice skates pushes a 40 kg boy, also on ice skates, with a force of 100 Newtons. The force of
the boy on the man is - 00N

e 800 N e 400 N e 200 N ) Ol e 50 N e 40 N e zero unless the boy pushes back

3. The figures below shows a person standing on a scale in six identical elevators. The scale reads 600 N when
the elevator is starionary. Each elevator is moving with the velocity and acceleration shown. Rank the scale
readings in each case from highest to lowest. Note that some may be equal. (Remember the reading on the
scale is the normal force between the person and the scale.)

GREATEST:

(A) (B) (©)
(Y% T v=4 m/s T v=3 m/s (%\ T v=2 m/s
l a=2 m/s? T a=2 m/s? _a=0
(D)
(@A v=1 m/s v=2 m/s
a=3 m/s? l a=3 m/s?
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